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Multipliser med potens på ti (manglende tall)

10, 126 × ________ = 1012.6 2, 792 × ________ = 27.92

4, 695 × ________ = 4695 9, 107 × ________ = 9107

7, 625 × ________ = 7625 9, 039 × ________ = 90.39

10, 789 × ________ = 10789 3, 715 × ________ = 37.15

9, 073 × ________ = 9073 5, 197 × ________ = 519.7

2, 186 × ________ = 218.6 8, 157 × ________ = 815.7

10, 927 × ________ = 10927 3, 341 × ________ = 334.1

2, 178 × ________ = 2178 6, 285 × ________ = 62.85

6, 728 × ________ = 67.28 6, 359 × ________ = 63.59

2, 728 × ________ = 2728 2, 539 × ________ = 25.39
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